
Math 116 — Practice for Exam 1

Generated February 10, 2025

Name:

Instructor: Section Number:

1. This exam has 8 questions. Note that the problems are not of equal difficulty, so you may want to skip
over and return to a problem on which you are stuck.

2. Do not separate the pages of the exam. If any pages do become separated, write your name on them
and point them out to your instructor when you hand in the exam.

3. Please read the instructions for each individual exercise carefully. One of the skills being tested on
this exam is your ability to interpret questions, so instructors will not answer questions about exam
problems during the exam.

4. Show an appropriate amount of work (including appropriate explanation) for each exercise so that the
graders can see not only the answer but also how you obtained it. Include units in your answers where
appropriate.

5. You may use any calculator except a TI-92 (or other calculator with a full alphanumeric keypad).
However, you must show work for any calculation which we have learned how to do in this course. You
are also allowed two sides of a 3′′ × 5′′ note card.

6. If you use graphs or tables to obtain an answer, be certain to include an explanation and sketch of the
graph, and to write out the entries of the table that you use.

7. You must use the methods learned in this course to solve all problems.

Semester Exam Problem Name Points Score

Fall 2020 1 2 stork 11

Winter 2011 1 7 paint truck 11

Fall 2020 1 8 mahogany 8

Winter 2019 1 1 11

Fall 2003 1 9 sandpile 12

Fall 2019 1 9 ring 12

Winter 2011 1 5 ramp 8

Winter 2012 1 3 island 12

Total 85

Recommended time (based on points): 76 minutes
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2. [11 points] In the game of Vegetable Crossing, Tina is carefully monitoring the stork market,
which determines the price of a stork in dubloons, the game’s currency. If t is the number of
days since Tina started playing, then r(t), measured in dubloons per day, gives the rate of

change of the price of a stork in the game. A graph of r(t) is shown below. Note that r(t) is
piecewise linear.
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a. [2 points] For what value of t in [0, 7] is the price of a stork growing fastest?

b. [2 points] Tina wants to buy storks when the price is as low as possible. For what value
of t in [0, 7] should she buy storks?

c. [3 points] What is the average value of r(t) on the interval [3, 5]? Be sure to write down
any integrals you use to obtain your answer.

d. [4 points] Let R(t) be the price of a stork in dubloons at time t, and assume that R(t) is
continuous. The price of a stork at time t = 3 is 14 dubloons. Given that information,
fill out the following table of values:

t 0 2 4 6

R(t)

Fall, 2020 Math 116 Exam 1 Problem 2 (stork)
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7. [11 points]
A truck carrying a large tank of paint leaves a garage at 9AM. The tank starts to leak in such
a way that x miles from the garage, the density of paint on the road is e−x2/5000 gallons per
mile. At 10AM, a cleaning crew leaves from the same garage and follows the path of the truck,
scrubbing the paint from the road as it travels until it catches up to the leaking truck. At t

hours after 10AM, the leaking truck is 50 ln(t+2) miles from the garage, and the cleanup crew
is 35t miles from the garage. You may use your calculator to evaluate any definite integrals
for this problem.

a. [4 points] Calculate the total amount of paint that has leaked from the truck by 11AM.

b. [2 points] At time t hours after 10AM, what interval I of the road is still covered in paint?
(you may assume that t represents a time before the trucks meet)

I =

[

,

]

c. [3 points] Let P (t) represent the amount of paint in gallons on the road t hours after 10
AM. Find a formula (which may include a definite integral) for P (t).

d. [2 points] Calculate P ′(1).

University of Michigan Department of Mathematics Winter, 2011 Math 116 Exam 1 Problem 7 (paint truck)
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8. [8 points]

a. [4 points] Kesha is tasked with sourcing mahogany timber for her logging company. She
finds that the cost of producing x tons of timber is given by M(x), measured in
thousands of dollars. She knows that M ′(x) = ln(1 + x2) and that it costs 11 thousand
dollars to produce 3 tons of timber. Find an expression involving an integral for M(x).

b. [4 points] Kesha finds that her department’s profit for the month, in thousands of
dollars, is given by

∫

5

−5

sin(x5) + 2 dx.

By evaluating this integral, give a numerical figure for Kesha’s department’s profit.
(Hint: What special property of the function sin(x5) could be useful here?) Make sure to
fully justify your answer.

Fall, 2020 Math 116 Exam 1 Problem 8 (mahogany)
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1. [11 points] Let f(x) be a differentiable function with continuous derivative, and

F (x) =

∫ x

2

f(t) dt. Some values of the functions f(x) and F (x) are shown below:

x −1 0 1 2 3

f(x) 7 4 0.25 9 8

F (x) 8 9 0.5 0 1

Compute the exact numerical values of the following integrals. If it is not possible to do so
based on the information provided, write “not possible” and clearly indicate why it is not
possible. Show your work.

a. [3 points]

∫
1

0

xf ′(x) dx

Answer:

b. [3 points]

∫
0

−1

3
√

xf ′(x4/3) dx

Answer:

c. [5 points]

∫
2

1

f(x)

(F (x))2 − 1
dx

Answer:

University of Michigan Department of Mathematics Winter, 2019 Math 116 Exam 1 Problem 1
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University of Michigan Department of Mathematics Fall, 2003 Math 116 Exam 1 Problem 9 (sandpile)



�����������
	 � �������
��������� ��� ��� ����� � ��� � ��� ��� ����	���� � � � �
~'��� K�O 	/
 ��M 5 	 � y M �n�;� , y M ��6�
 �+� � M 6 �98 �n	/
 � 	E�f
 � { O�M k O�� � O�� � � ��
�	��+{�
 �+� P%�
k , y � � * 
 ��� � M ��6;�n	�k � x

~��^� � 	E��6s
 �+�����^M .�
�P%�
k , y � � * 
 �+� �'�
kE	E6|x . * <%� , . M �U� 
�.��
yp� , 
 � 
 �+� P%�
k , y �����^M .�
�kE<%q {
	/P � 
 �+� yp�
�'
M .9. ,+O�M 
 ��M ��� O � � 	�y M 
�	/�
� <%� , . M � M ��6 ��� �nk M 	E� � � T <%� ,�* � , ��6;	E
9x

University of Michigan Department of Mathematics Fall, 2003 Math 116 Exam 1 Problem 9 (sandpile)
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9. [12 points] Kyle wants to make a big ring, made by the rotation of the region bounded by

y = x+
1

2
(x− 1)4, x = 0, x = 1, and y = 0

about the line x = −

1

2
. This region is shown below. Both x and y are measured in

centimeters.

1

1

x

y

a. [4 points] Write, but do not evaluate, an integral expression that gives the volume of
Kyle’s ring in cm3.

Answer:

b. [4 points] The ring’s density is given by ln(5r + 1) grams/cm3, where r is the distance in
centimeters from the central axis of the ring. Write, but do not evaluate, an integral
expressing the total mass of Kyle’s ring in grams.

Answer:

c. [4 points] John wants to use the same region to make a ring, but instead rotates the
region around the line y = −

1

2
.

Write, but do not evaluate, an integral that gives the volume of John’s ring in cm3.

Answer:

University of Michigan Department of Mathematics Fall, 2019 Math 116 Exam 1 Problem 9 (ring)
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5. [8 points] A company wants to design a bicycle ramp using the shape of the graph of the

function f(x) = 4

3
x

3

2 ,where x is the length in meters of the base of the ramp.

Ramp

s

L

f HxL

x

Find the length s of a ramp with base of length L. Show all your work.

University of Michigan Department of Mathematics Winter, 2011 Math 116 Exam 1 Problem 5 (ramp)
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3. [12 points] A boat travels in a straight line toward an island d km away. The velocity v(t)
(toward the island is positive velocity) in km/hr, t hours after departing from its starting
position. The velocity v(t) during the first three hours is recorded at half hour intervals, and
is given in the table below:

t 0 0.5 1 1.5 2 2.5 3

v(t) 50 48 44 38 30 20 8

a. [8 points] Find an estimate for how far the boat is from the starting point after 3 hours
using the four approximations LEFT, RIGHT, MID and TRAP. Use the maximum
number of subintervals possible. Write each sum, and justify whether the sum is an
underestimate or an overestimate. Assume the velocity is always decreasing and has no
inflection points. Circle your answers.

b. [4 points] If it takes the boat 5 hours to reach the island, write an expression involving
integrals for the distance S(t) between the island and the boat for 0 ≤ t ≤ 5.

University of Michigan Department of Mathematics Winter, 2012 Math 116 Exam 1 Problem 3 (island)


